Engineering Mechanics – Statics CE 201-012 (02 & 03)

Notes: Lectures 19-22




The following notes summarize the key issues introduced in lectures 19-22. The issues stressed in these lectures are mainly:

· The requirements for rigid body equilibrium in 2D and 3D. 

· The physical meaning of a support to prevent an undesirable motion.

· Types of structural supports in 2D and 3D [see the text book].

· Properly aligned supports in 3D problems.

Notes: a) for problems in 2D (the body and the loads are in the same plane), the vector procedure of analysis should not be used; b) for problems in 3D the method of vectors must be used almost always.

For more details study the class notes and the key solutions of the homework assignments that have been posted in this homepage.

The following two examples will illustrate the key steps involved in studying equilibrium of rigid bodies in 2D and 3D.
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Dr. Saeid A. Alghamdi:
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